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Solved Examples

1. In which quadrant do the points lie: 

Watch Video Solution

(5, − 4)

2. In which quadrant do the points lie: 

Watch Video Solution

( − 3, − 2)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RRqDk2mkRaUJ
https://dl.doubtnut.com/l/_4SmIXeCvh2H7
https://dl.doubtnut.com/l/_Dtf2bSdmrwL4


3. In which quadrant do the points lie: 

Watch Video Solution

(4, 3)

4. In which quadrant do the points lie: 

Watch Video Solution

( − 5, 2)

5. In which quadrant do the points lie: 

Watch Video Solution

(0, − 3)

6. Plot the following points on a graph paper :
 
 (ii) 


(iv) 

Watch Video Solution

(3, 4) −2, 3)

( − 5, − 2) (4, − 3)

https://dl.doubtnut.com/l/_Dtf2bSdmrwL4
https://dl.doubtnut.com/l/_NT5yGGYBvMV6
https://dl.doubtnut.com/l/_Yk8kXmPOdpnC
https://dl.doubtnut.com/l/_vT20PVCraMph


7. Plot the points 

Watch Video Solution

( − 2, − 3)

8. Plot the points 

Watch Video Solution

( − 3, 0)

9. Where does a point having y-coordinate  lie?

Watch Video Solution

−2

10. If three vertices of a rectangle or , (2,0) (0, 3)`, find the

coordinates of the fourth vertex.

Watch Video Solution

(0, 0) and

https://dl.doubtnut.com/l/_8X0ORCnAYGg9
https://dl.doubtnut.com/l/_OtQJjdicbE0q
https://dl.doubtnut.com/l/_bbMRK3akveo8
https://dl.doubtnut.com/l/_2fCMwyE7LGtc


11. The base of an equilateral triangle with side 20cm lies along x-axis

such that the mid-point of the base is at the origin. Find the vertices of

the triangle

Watch Video Solution

12. Prove that the distance of the point  from the origin

is independent of .

Watch Video Solution

(a sinα, a sinα)

α

13. Let  and  be three points such that AB = BC,

then the vlue of x are

Watch Video Solution

A(6, − 1), B(1, 3) C(x, 8)

https://dl.doubtnut.com/l/_CiNOuwSPMH4H
https://dl.doubtnut.com/l/_72Wn9NmHF1yt
https://dl.doubtnut.com/l/_SdJzBaNRB1SM


14. Using distance formula, show that the points (1,5), (2,4) and (3,3) are

collinear.

Watch Video Solution

15. about to only mathematics

Watch Video Solution

16. If the segments joining the points 
 subtends an

angle 
at the origin, prove that : 

Watch Video Solution

A(a, b)and B(c, d)

θ θ =
ac + bd

(a2 + b2)(c2 + d2)

17. Find the circumcentre of the triangle whose vertices are (-2, -3), (-1, 0)

and (7, -6). Also find the radius of the circumircle.

Watch Video Solution

https://dl.doubtnut.com/l/_4dUhV0NI7TDr
https://dl.doubtnut.com/l/_KB8I8Ofpe3Eq
https://dl.doubtnut.com/l/_acUfzCbg8qui
https://dl.doubtnut.com/l/_fjUVlb0L0Wmj


18. The opposite vertices of a square are (2, 6) and (0, -2). Find the

coordinates of the other vertices.

Watch Video Solution

19. Two vertices of an equilateral triangle are . Find

the third vertex

Watch Video Solution

(0, 0) and (0, 2√3)

20. Prove that the points (-4, -1), (-2, -4), (4,0) and (2,3) are the
vertices of a

rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_fjUVlb0L0Wmj
https://dl.doubtnut.com/l/_zDMC6JWTVQWG
https://dl.doubtnut.com/l/_h9D9J8SQqFAn
https://dl.doubtnut.com/l/_MzokFxj2GEun


21. Using distance formula, prove the apollonius' theorem that is in

 , where D is the middle point

of BC.

Watch Video Solution

ΔABC, AB2 + AC 2 = 2(AD2 + BD20)

22. Find the coordinates of the point which divides the line segment

joining the points  internally in the ratio3 : 1

Watch Video Solution

(5, − 2) and (9, 6)

23. The coordinates of one end of a diameter of a circle are . If

the coordinates of the centre be  find the coordinates of the other

end of the diameter.

Watch Video Solution

(5, − 7)

(7, 3)

https://dl.doubtnut.com/l/_46hvHyolpULD
https://dl.doubtnut.com/l/_Dw0ZEJRRboWx
https://dl.doubtnut.com/l/_imsPCxCpalz3


24.  are two points and D is a point on AB

produced towards B such that . Find the coordinates of D.

Watch Video Solution

A(1, 1) and B(2, − 3)

AD = 3AB

25. Find the coordinates of points which trisect the line segment joining

Watch Video Solution

(1, − 2)and( − 3, 4).

26. P, Q and R are three collinear points. P and Q are (3, 4) and (7, 7)

respectively, and PR =10 units. Find the coordinates of R.

Watch Video Solution

27. Find the ratio in which the point (2, y) divides the line segment joining

(4, 3) and (6, 3) and hence find the value of y.

https://dl.doubtnut.com/l/_iyvCXICqSoPr
https://dl.doubtnut.com/l/_48juZMmMGxvi
https://dl.doubtnut.com/l/_GJsF1CTMxOdf
https://dl.doubtnut.com/l/_TJf53acwHSZq


Watch Video Solution

28. Find the ratio in which the line segment joining  and  is

divided by the y-axis. Also find the point of division.

Watch Video Solution

(2, − 3) (5, 6)

29. Determine
the ratio in which the straight line 
divides

the
line segment joining 
and 
.

Watch Video Solution

x − y − 2 = 0

(3,   − 1) (8,  9)

30. If  and  are the mid-points of the sides of a

triangle, find the coordinates of the vertices of the triangle.

Watch Video Solution

( − 3, 2), (1, − 2) (5, 6)

https://dl.doubtnut.com/l/_TJf53acwHSZq
https://dl.doubtnut.com/l/_suQ1YPwbfDZE
https://dl.doubtnut.com/l/_e1838A81OCEs
https://dl.doubtnut.com/l/_X4C215KDityV


31. Find the centroid of the trianlge whose vertices are 

and 

Watch Video Solution

( − 1, 4), (5, 2)

( − 1, 3)

32. Find the coordinates of the centreof the circle inscribed in the

triangle whose vertices are  and 

Watch Video Solution

(7, − 36), (7, 20) ( − 8, 0)

33. Prove that the centroid of any triangle is the same as the centroid of

the triangle formed by joining the middle points of its sides

Watch Video Solution

34. Show that the quadrilateral with vertices

 is square.(3, 2), (0, 5), ( − 3, 2), (0, − 1)

https://dl.doubtnut.com/l/_5FKqCBG1E4rZ
https://dl.doubtnut.com/l/_1ucigGw4a9Rp
https://dl.doubtnut.com/l/_XUrcfoRZu6qV
https://dl.doubtnut.com/l/_KggsCsIz8hmh


Watch Video Solution

35. If x coordinates of two points B and C are the roots of equation

 and their y coordinates are the roots of equation 

. If x coordinate of B is less than x coordinate of C and y

coordinate of B is greater than the y coordinate of C and coordinates of a

third point A be (3, -5), find the length of the bisector of the interior angle

at A.

Watch Video Solution

x2 + 4x + 3 = 0

x2 − x − 6 = 0

36. If the points  and  be the three consecutive

vertices of a parallelogram, find the coordinates of the fourth vertex.

Watch Video Solution

(x1, y1), (x2, y2) (x3, y3)

37. about to only mathematics

Watch Video Solution

https://dl.doubtnut.com/l/_KggsCsIz8hmh
https://dl.doubtnut.com/l/_40IM0BiBF5dX
https://dl.doubtnut.com/l/_wIiIICwlu2Pm
https://dl.doubtnut.com/l/_87XOC9l2lKvc


38. Find the area of the triangle whose vertices A, B, C are respectively,

.

Watch Video Solution

(3, 4), ( − 4, 3) and (8, 6)

39. Find the
 area of the quadrilateral whose vertices are


and 

Watch Video Solution

( − 3,  2),  (5,  4),  (7,   − 6) ( − 5,   − 4)

40. Find the area of the pentagon whose vertices are

Watch Video Solution

(4, 3), ( − 5, 6), (0, − 7), (3, − 6), ( − 7, − 2)

https://dl.doubtnut.com/l/_87XOC9l2lKvc
https://dl.doubtnut.com/l/_sswuPGDR19iL
https://dl.doubtnut.com/l/_Mgdg8lBiSagq
https://dl.doubtnut.com/l/_2mjNgfWY9He3


41. Show that the points  are collinear if 

Watch Video Solution

(3, 3), (h, 0) and (0, k)

+ =
1

h

1

k

1

3

42. If 
is the
centroid of a triangle and the coordinates of its any two

vertices are 
and 
find the
area of the triangle.

Watch Video Solution

(1, 4)

(4, − 8) ( − 9, 7),

43. The area of
a triangle is 5. Two of its vertices are 
and 
.

The third
vertex lies on 
. Find the
third vertex.

Watch Video Solution

(2,  1) (3,   − 2)

y = x + 3

44. The coordinates of points A, B, C and P are

 respectively, prove that (6, 3), ( − 3, 5), (4, − 2) and (x, y)

https://dl.doubtnut.com/l/_Gc2IdrTemiqt
https://dl.doubtnut.com/l/_me8Uu8hZc0Rq
https://dl.doubtnut.com/l/_6c4VuUSLt840
https://dl.doubtnut.com/l/_XD1QRuStihkQ


Watch Video Solution

=
ΔPBC

ΔABC

x + y − 2

7

45. Thevertices of a triangle ABC are . If

D, E, F are the mid-points of the sides  respectively,

show that .

Watch Video Solution

A( − 7, 8), B(5, 2) and C(11, 0)

BC, CA and AB

ΔABC = 4ΔDEF

46. The coordinates of points  are 

 respectively, and the ares of 

 are in ratio 2:3. Find .

Watch Video Solution

P , Q, R and S

( − 3, 5), (4, − 2), (p, 3p) and (6, 3)

ΔPQR and ΔQRS p

47. The coordinates of two poitns A and B are  and ,

respectively. Find the coordintes of points P if  and area of 

(3, 4) (5, − 2)

PA = PB

https://dl.doubtnut.com/l/_XD1QRuStihkQ
https://dl.doubtnut.com/l/_n4Cd3qP6LkDL
https://dl.doubtnut.com/l/_W1B55F6YAaeA
https://dl.doubtnut.com/l/_7rv8y7U7ilqB


 is 10 sq.unit.

Watch Video Solution

ΔPAB

48. If  are points whose coordinates are 

 respectively, find the ratio in which 

is divided by .

Watch Video Solution

A, B, C, D

( − 2, 3), (8, 9), (0, 4) and (3, 0) AB

CD

49. If the vertices of a triangle having integral coordinates . Prove that

triangle can't be equileteral .

Watch Video Solution

50. prove that the area of a triangle is four times the area of the triangle

formed by joining the mid-points of its sides.

Watch Video Solution

https://dl.doubtnut.com/l/_7rv8y7U7ilqB
https://dl.doubtnut.com/l/_8tP5HhZvhTe1
https://dl.doubtnut.com/l/_YThs7uIJI55E
https://dl.doubtnut.com/l/_LOOIuSFxaFTP


51. Find the locus of a point at which the angle subtended by the line

segment joining  is a right angle.

Watch Video Solution

(1, 2) and ( − 1, 3)

52. Find the locus of a point such that the sum of its distances from the

points 
is

Watch Video Solution

(0, 2)and(0, − 2) 6.

53. Find the equation of the locus of a point which moves so that its

distance from the x-axis is double of its distance from the y-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_LOOIuSFxaFTP
https://dl.doubtnut.com/l/_C1rzUVnOvByt
https://dl.doubtnut.com/l/_ijuP8JF2DhTG
https://dl.doubtnut.com/l/_9RsUYps6nnHZ


54. If the coordinates of a variable point 
are 
where 

is a
variable quantity, then find the locus of 

Watch Video Solution

P (a cos θ, b sin θ), θ

P .

55. 
 is a
 variable line sliding between the coordinate axes in such a

way that 
 lies on the
 x-axis and 
 lies on the
 y-axis. If 
 is a
 variable

point on 
 such that 
 , and 
 find the

equation of the locus of 

Watch Video Solution

AB

A B P

AB PA = b, Pb = a AB = a + b,

P .

56. If  be origin and  is a point on the locus  .find the locus of

the middle point of 

Watch Video Solution

O A y2 = 8x

OA

https://dl.doubtnut.com/l/_XalqC7Sc6txx
https://dl.doubtnut.com/l/_juYHEaKlWZfA
https://dl.doubtnut.com/l/_CIXJjz5CyWqi


57. A and B are two fixed points. Draw the locus of a point P such that

angle .

Watch Video Solution

APB = 90∘

58. A straight line segment of length/moves with its ends on two

mutually
 perpendicular lines. Find the locus of the point which divides

the line
segment in the ratio 1:2

Watch Video Solution

59. Describe the locus of the point  satisfying the equation 

Watch Video Solution

(x, y)

(x − 2)2 + (y − 3)2 = 25

https://dl.doubtnut.com/l/_5QaIlDvWFKUx
https://dl.doubtnut.com/l/_mG3bCwvAX35Y
https://dl.doubtnut.com/l/_nqrnoIRSL7Vo


Exercise

60. Describe the locus of the point  satisfying the equation 

Watch Video Solution

(x, y)

x − y = 0

61. Examine whether point  lies on the curve 

Watch Video Solution

(2, − 5)

x2 + y2 − 2x + 1 = 0

1. In which quadrant do the following points lies: 

Watch Video Solution

(10, − 3)

2. In which quadrant do the following points lies: ( − 4, − 6)

https://dl.doubtnut.com/l/_YrGB7i3m7r7P
https://dl.doubtnut.com/l/_E8oNtYvzMTqT
https://dl.doubtnut.com/l/_t1bXwUXVbffQ
https://dl.doubtnut.com/l/_nqGAXLmBJZSF


Watch Video Solution

3. In which quadrant do the following points lies: 

Watch Video Solution

( − 8, 6)

4. in which quadrant  lies

Watch Video Solution

( , 5)
3

2

5. In which quadrant do the following points lies: 

Watch Video Solution

(0, − 5)

6. Plot the points in a rectangular coordinate system: 

Watch Video Solution

(4, 5)

https://dl.doubtnut.com/l/_nqGAXLmBJZSF
https://dl.doubtnut.com/l/_f9z9DRMrUpBm
https://dl.doubtnut.com/l/_daszUHTXLdCR
https://dl.doubtnut.com/l/_fZZ6kfM5U69Z
https://dl.doubtnut.com/l/_cUE3KNojCoz7
https://dl.doubtnut.com/l/_k5vsPAIZdWbd


7. Plot the points in a rectangular coordinate system: 

Watch Video Solution

( − 2, 7)

8. Plot the points in a rectangular coordinate system: 

Watch Video Solution

( − 2, − 7)

9. Plot the points in a rectangular coordinate system: 

Watch Video Solution

(6, − 2)

10. Plot the points in a rectangular coordinate system: 

Watch Video Solution

( − 4, 2)

11. Plot the points in a rectangular coordinate system: (4, 0)

https://dl.doubtnut.com/l/_k5vsPAIZdWbd
https://dl.doubtnut.com/l/_UkxpxhOSQfIH
https://dl.doubtnut.com/l/_REGsKIyeuuZV
https://dl.doubtnut.com/l/_o5k8yVCo5fea
https://dl.doubtnut.com/l/_pxKdOeZuzm3s


Watch Video Solution

12. Where does a point having y-coordinate  lie?

Watch Video Solution

−5

13. If three vertices of a rectangle are  find the

coordinates of the fourth vertex

Watch Video Solution

( − 2, 0), (2, 0), (2, 1),

14. The base of an
 equilateral triangle with side 2a lies along the yaxis

such that the midpoint
 of the base is at the origin. Find vertices of the

triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_pxKdOeZuzm3s
https://dl.doubtnut.com/l/_cemjNGajRHdI
https://dl.doubtnut.com/l/_cwmNK5OdElda
https://dl.doubtnut.com/l/_8EAz8qxyFwfz


15. Let ABCD be a rectangle such that  units and  units.

Taking AB and AD as  and  axis respectively, find the coordinates of A, B,

C and D.

Watch Video Solution

AB = 10 BC = 8

x y

16. Find the distance between the pair of points: 

Watch Video Solution

(0, 0), ( − 5, 12)

17. Find the distance between the pair of points: 

Watch Video Solution

(4, 5), ( − 3, 2)

18. Examine whether the points  are

equidistant from the point  ?

Watch Video Solution

(1, − 1), ( − 5, 7) and (2, 5)

( − 2, 3)

https://dl.doubtnut.com/l/_2RYCMrXqLU09
https://dl.doubtnut.com/l/_g2v6uKhvLW6Q
https://dl.doubtnut.com/l/_Ruxn3l6rLrDi
https://dl.doubtnut.com/l/_kGU2gxbHs4Q3


19. Find  if the distance between  is 8.

Watch Video Solution

a (a, 2) and (3, 4)

20. A line is of length 10 units and one of its ends is . If the

ordinate of the other end is 9, prove that the abscissa of the other end is

 or 

Watch Video Solution

( − 2, 3)

6 −10

21. The distance between the points  and 

 where a> 0

Watch Video Solution

(a cosα, a sinα)

(a cos β, a sinβ)

22. Find the distance between the points : (

W h Vid S l i

at2
1, 2at1) and (at2

2, 2at2)

https://dl.doubtnut.com/l/_kGU2gxbHs4Q3
https://dl.doubtnut.com/l/_OpTmES0Tsz7H
https://dl.doubtnut.com/l/_ofam81GOvOqL
https://dl.doubtnut.com/l/_jw7jpJ5UtnNE
https://dl.doubtnut.com/l/_tfxomC8v6MU0


Watch Video Solution

23. Find the distance between the points : 

Watch Video Solution

(a − b, b − a), (a + b, a + b)

24. Find the distance between the points : 

Watch Video Solution

(cos θ, sin θ), (sin θ, cos θ)

25. Find a
point on the x-axis which is equidistant from the points 

and 
.

Watch Video Solution

(7,  6)

( − 3,  4)

26. The point on the y-axis which is equidistant from the points  and

 is

Watch Video Solution

(3, 2)

( − 5, − 2)

https://dl.doubtnut.com/l/_tfxomC8v6MU0
https://dl.doubtnut.com/l/_3BR3TKH0GvCV
https://dl.doubtnut.com/l/_cUihrb2mwJ3o
https://dl.doubtnut.com/l/_XzFm5EBXFjNP
https://dl.doubtnut.com/l/_2gmH8IqWfDi9


Watch Video Solution

27. Find the point on x-axis which is equidistant from the pair of points:

Watch Video Solution

(7, 6) and (3, 4)

28. Find a
point on y-axis which is equidistant from the points 

and 
.

Watch Video Solution

(5,   − 2)

( − 3,  2)

29. Using distance formula, examine whether the sets of points are

collinear : 

Watch Video Solution

(3, 5), (1, 1), ( − 2, − 5)

https://dl.doubtnut.com/l/_2gmH8IqWfDi9
https://dl.doubtnut.com/l/_WAVzroSKPGHc
https://dl.doubtnut.com/l/_ITC1F90Q1rcu
https://dl.doubtnut.com/l/_cr6kLbG7G8D0


30. Using distance formula, examine whether the sets of points are

collinear : 

Watch Video Solution

(5, 1), (1, − 1), (11, 4)

31. Using distance formula, examine whether the sets of points are

collinear : 

Watch Video Solution

(0, 0), (9, 6), (3, 2)

32. Using distance formula, examine whether the sets of points are

collinear : 

Watch Video Solution

( − 1, 2), (5, 0), (2, 1)

33. If , find the value of  such that A ≡ (6, 1), B ≡ (1, 3), C ≡ (x, 8) x

AB = BC

https://dl.doubtnut.com/l/_eu5MTpq6fONp
https://dl.doubtnut.com/l/_eJP5191cea9k
https://dl.doubtnut.com/l/_InOuRu1OLlyY
https://dl.doubtnut.com/l/_ypJBO32IYrjN


Watch Video Solution

34. Prove that the distance between the points 

and  is independent of .

Watch Video Solution

(a + r cos θ, b + r sin θ)

(a, b) θ

35. Use distance formula to show that the points

 are collinear.

Watch Video Solution

(cos ec2θ, 0), (0, sec2 θ) and (1, 1)

36. If the point  is equidistant from the points ,

find the relation between .

Watch Video Solution

(x, y) (2, 3) and (6, − 1)

x and y

https://dl.doubtnut.com/l/_ypJBO32IYrjN
https://dl.doubtnut.com/l/_e4oTK0OsqWTf
https://dl.doubtnut.com/l/_rX0KeGKAHysv
https://dl.doubtnut.com/l/_TU26cToxfF9A


37. If the point  be equidistant from the points 

, prove that .

Watch Video Solution

P (x, y)

(a + b, b − a) and (a − b, a + b) =
a − b

a + b

x − y

x + y

38. Show that the points  and (13, 9) are the vertices of a

right angled triangle.

Watch Video Solution

(3, 4), (8, − 6)

39. Determine the type (isosceles, right-angled, right-angled isosceles,

equilateral, scalence) of the triangles whose vertices are:

Watch Video Solution

(1, 1), ( − √3, √3), ( − 1, − 1)

https://dl.doubtnut.com/l/_SuM4ohmfr3Gb
https://dl.doubtnut.com/l/_61jl4AlC35tN
https://dl.doubtnut.com/l/_yyuodiV3xh3v


40. Determine the type (isosceles, right-angled, right-angled isosceles,

equilateral, scalene) of the triangles whose vertices are:

Watch Video Solution

(0, 2), (7, 0), (2, 5)

41. Determine the type (isosceles, right-angled, right-angled isosceles,

equilateral, scalence) of the triangles whose vertices are:

Watch Video Solution

( − 2, 5), (7, 10), (3, − 4)

42. Determine the type (isosceles, right-angled, right-angled isosceles,

equilateral, scalene) of the triangles whose vertices are:

Watch Video Solution

(4, 4), (3, 5), ( − 1, − 1)

https://dl.doubtnut.com/l/_A7l8wN7sOGnQ
https://dl.doubtnut.com/l/_huNyVWcPiunk
https://dl.doubtnut.com/l/_CBu3YaWhutmZ
https://dl.doubtnut.com/l/_M3Dmi0Lenq50


43. Determine the type (isosceles, right-angled, right-angled isosceles,

equilateral, scalence) of the triangles whose vertices are:

Watch Video Solution

(1, 2√3), (3, 0), ( − 1, 0)

44. Determine the type (isosceles, right-angled, right-angled isosceles,

equilateral, scalence) of the triangles whose vertices are:

Watch Video Solution

(0, 6), ( − 5, 3), (3, 1)

45. If  and  be any three points,

show that  is independent of .

Watch Video Solution

A(at2, 2at), B( , − )
a

t2

2a

t
C(a, 0)

+
1

AC

1

BC
t

https://dl.doubtnut.com/l/_M3Dmi0Lenq50
https://dl.doubtnut.com/l/_acGE1r6chpyu
https://dl.doubtnut.com/l/_JwNbkCEB2Vb9


46. If the two vertices of an equilateral triangle be 
 find

the third vertex.

Watch Video Solution

(0, 0), (3, √3),

47. Find the circumcentre and circumradius of the triangle whose vertices

are .

Watch Video Solution

( − 2, 3), (2, − 1) and (4, 0)

48. The vertices of a triangle  are ,

find .

Watch Video Solution

ABC A(0, 0), B(2, − 1) and C(9, 2)

cosB

49. The centre of a circle is  and radius is 10 units.

Find the value of  if the circle passes through the point .

(2x − 1, 3x + + 1)

x ( − 3, − 1)

https://dl.doubtnut.com/l/_5AiGiivOZXj1
https://dl.doubtnut.com/l/_wZf8WO0jCPEz
https://dl.doubtnut.com/l/_Jgr5pTKnhOlp
https://dl.doubtnut.com/l/_nVEb7Vga2ExY


Watch Video Solution

50. Prove that the point  asre the vertices

of a square.

Watch Video Solution

(4, 3), (6, 4), (5, 6) and (3, 5)

51. Prove that the points  are the vertices

of a parallelogram. Is it a rectangle?

Watch Video Solution

(3, 2), (6, 3), (7, 6) and (4, 5)

52. Prove that the points  are the

vertices of a parallelogram.

Watch Video Solution

(6, 8), (3, 7), ( − 2, − 2), (1, − 1)

https://dl.doubtnut.com/l/_nVEb7Vga2ExY
https://dl.doubtnut.com/l/_LTtriWNcSVxm
https://dl.doubtnut.com/l/_VSzoAJZXNB7R
https://dl.doubtnut.com/l/_NPY1Z9OenXu1


53. Prove that the points  are the vertices of

a rectangle.

Watch Video Solution

(4, 8), (0, 2)(3, 0) and (7, 6)

54. Show that the points  are

the vertices of a rhombus.

Watch Video Solution

A(1, 0), B(5, 3), C(2, 7) and D( − 2, 4)

55.  are two given points  are

poinsts which are symmetric to the given points  respectively

with respect to y-axis. Calculate the perimeter of the trapezium .

Watch Video Solution

A( − 4, 0) and B( − 1, 4) C and D

A and B

ABCD

https://dl.doubtnut.com/l/_WoRs5bQ1KxKj
https://dl.doubtnut.com/l/_D5T8IVbQKPfW
https://dl.doubtnut.com/l/_XzztoVzpOoVu


56. A line segement AB through the point  which makes an angle

of  with the positive direction of x-axis is rotated about  in

anticlockwise direction through an angle of . If  be the new position

of point , find the coordinates of .

Watch Video Solution

A(2, 0)

300 A

150 C

B(2 + √3, 1) C

57. The point  is reflected in the -axis and then translated

parallel to the positive direction of x-axis through a distance of  units,

find the coordinates of the point in the new position.

Watch Video Solution

(1, − 2) x

3

58. The line segment joining  is rotated about  in

the anticlockwise direction through an angle of  so that  goes to .

If  is the reflection of  in y-axis, find the coordinates of .

Watch Video Solution

A(3, 0) and B(5, 2) A

450 B C

D C D

https://dl.doubtnut.com/l/_My32RhXAgB4l
https://dl.doubtnut.com/l/_CsecORYpOt3c
https://dl.doubtnut.com/l/_5kW8YNFvlDih


59. Let ABCD be a rectangle and P be any point in its plane. Show that

 using coordinate geometry.

Watch Video Solution

PA2 + PC 2 = PB2 + PD2

60. Prove analytically that the diagonals of a rectangle are equal

Watch Video Solution

61. Prove analytically that the sum of square of the diagonals of a

rectangle is equal to the sum of squares of its sides.

Watch Video Solution

62. Find the coordinates of the point which divides the line segment

joining  and  in the ratio  internally and externally.

Watch Video Solution

(2, 4) (6, 8) 1: 3

https://dl.doubtnut.com/l/_phO8pA1JemdE
https://dl.doubtnut.com/l/_GBMXtX4hKjHH
https://dl.doubtnut.com/l/_SNby7VUBiGeX
https://dl.doubtnut.com/l/_I7IbGB5c7194


63. Find the coordinates of the points which trisect the line segment

joining the points .

Watch Video Solution

(2, 3) and (6, 5)

64.  are two points.  is a point on  such that 

. If , find the coordinates of .

Watch Video Solution

A(1, 4) and B(4, 8) P AB

AP = AB + BP AP = 10 P

65. The line segment joining  is extended through

each end by a length equal to its original length. Find the coordinates of

the new ends.

Watch Video Solution

A(2, 3) and B( − 3, 5)

https://dl.doubtnut.com/l/_I7IbGB5c7194
https://dl.doubtnut.com/l/_QQUu6ryxN2j8
https://dl.doubtnut.com/l/_TgxW1ECuJO7H
https://dl.doubtnut.com/l/_ZCJ3XjgMZ8Xs


66. The line segment joining A(6, 3) to B(-1, -4) is doubled in length by

having its length added to each end. Find the coordinates of the new

ends.

Watch Video Solution

67. The coordinatse of two points A and B are ,

respectively. Find the coordinates of the point P which lie on extended

line AB such that it is three times as far from B as from A.

Watch Video Solution

( − 1, 4) and (5, 1)

68. Find the distance of that point from the origin which divides the line

segment joining the points  in the ratio .

Watch Video Solution

(5, − 4) and (3, − 2) 4: 3

https://dl.doubtnut.com/l/_ymX6YWlBkJsB
https://dl.doubtnut.com/l/_YW8iJx7KMzPp
https://dl.doubtnut.com/l/_zFrGzv8LNukj


69. The coordinates of the middle points of the sides of a triangle are

, find the coordinates of its vertices.

Watch Video Solution

(1, 1), (2, 3) and (4, 1)

70.  are two points. The lines  are

produced to  respectively, such that 

. Find .

Watch Video Solution

A(1, − 2) and B(2, 5) OA, OB

C and D

OC = 2OA and OD = 2OB CD

71. Find the
 lengths of the medians of a triangle whose vertices are


and 
.

Watch Video Solution

A( − 1,  3),   B(1,   − 1) C(5,  1)

https://dl.doubtnut.com/l/_bnXiV6dd5KOH
https://dl.doubtnut.com/l/_NmvEmSEJjG2S
https://dl.doubtnut.com/l/_NqLbVtHP6HgG


72. If  be the vertices of  and

internal bisector of  meets  at , find .

Watch Video Solution

A(1, 5), B( − 2, 1) and C(4, 1) ΔABC

∠A BC D AD

73. If the
 mid-point of the line joining 
 and 
 is 
 and 


find the
value of 
.

Watch Video Solution

(3,  4) (k,  7) (x,  y)

2x + 2y + 1 = 0 k

74. One end of a diameterof a circle is at  and the centre is ,

find the coordinates of the other end of the diameter.

Watch Video Solution

(2, 3) ( − 2, 5)

75. If the point 
 divides internally the line segment joining 


and 
in ratio 3:4, find the coordinates of B.

C( − 1, 2)

A(2, 5) B

https://dl.doubtnut.com/l/_9thGyfPf59zO
https://dl.doubtnut.com/l/_juieSI7udSf0
https://dl.doubtnut.com/l/_26WcM8aAqKnT
https://dl.doubtnut.com/l/_ySFDtXoqkwAO


Watch Video Solution

76. Find the ratio in which  divides the join of points 

 Externally.

Watch Video Solution

( − 8, 3)

(2, − 2) and ( − 4, 1)

77. In what ratio does the x-axis divide the line
segment joining the points


and (5, 6)?

Watch Video Solution

(2, − 3)

78. Find the ratio in which the line segment joining of the points 

and  is divided by the line 

Watch Video Solution

(1, 2)

( − 2, 3) 3x + 4y = 7

https://dl.doubtnut.com/l/_ySFDtXoqkwAO
https://dl.doubtnut.com/l/_2jidgglCJ2vR
https://dl.doubtnut.com/l/_EEMWeCz8YHVe
https://dl.doubtnut.com/l/_gRXyHbyFppyw


79. Find the centroid and incentre of the triangle whose vertices are

.

Watch Video Solution

(2, 4), (6, 4), (2, 0)

80. The vertices of a triangle are at . Find the

coordinates of the trisection point of each median which is nearer the

opposite side.

Watch Video Solution

(2, 2), (0, 6) and (8, 10)

81. Two vertices of a triangle are . If its centroid is 

, find the third vertex.

Watch Video Solution

(1, 4) and (5, 2)

(0, − 3)

https://dl.doubtnut.com/l/_t1Z0swgEPxSn
https://dl.doubtnut.com/l/_5gumMtJK7uZT
https://dl.doubtnut.com/l/_InuB5BXCwSan


82. The coordinates of centroid of a triangle are  and two of its

vertices are . Find the third vertex of the

triangle.

Watch Video Solution

(√3, 2)

(2√3, − 1) and (2√3, 5)

83. Find the centroid of the triangle ABC whose vertices are

. Find the coordinates of the middle

points of its sides and hence find the centroid of the triangle formed by

joining these middle points. Do the two triangles have same centroid?

Watch Video Solution

A(9, 2), B(1, 10) and C( − 7, − 6)

84. If  are the middle points of the sides of

a triangle, find the coordinates of its centroid.

Watch Video Solution

(1, 2), (0, − 1) and (2, − 1)

https://dl.doubtnut.com/l/_tNWXgYBlEMRb
https://dl.doubtnut.com/l/_DSHmdNJuVBae
https://dl.doubtnut.com/l/_g3EgxsZfRnkG
https://dl.doubtnut.com/l/_np3sQYPQw57H


85. Find the incentre of the triangle with vertices  and 

.

Watch Video Solution

A91, √3), B(0, 0)

C(2, 0)

86. The mid-points of the sides of a triangle are

. Find the coordinates of the incentre.

Watch Video Solution

( , 0), ( , ) and (0, )
1

2

1

2

1

2

1

2

87. Two vertices of a triangle are . The third vertex

 lies on the line . If the centroid of  lies on y-axis, find

the coordinates of  and the centroid.

Watch Video Solution

A(2, 1) and B(3, − 2)

C y = x + 9 ΔABC

C

88. Prove that the points  are the

vertices of a parallelogram.

( − 2, − 1), (1, 0), (4, 3) and (1, 2)

https://dl.doubtnut.com/l/_np3sQYPQw57H
https://dl.doubtnut.com/l/_ZG4aNJjb8F1H
https://dl.doubtnut.com/l/_ZNw2S2KkNjdK
https://dl.doubtnut.com/l/_oaeNZGZaGHqj


Watch Video Solution

89. Show that the points  are

the vertices of a rhombus.

Watch Video Solution

A(1, 0), B(5, 3), C(2, 7) and D( − 2, 4)

90. Prove that the points  are the vertices of

a rectangle.

Watch Video Solution

(4, 8), (0, 2)(3, 0) and (7, 6)

91. Prove that the points  are the vertices

of a square.

Watch Video Solution

(4, 3), (6, 4), (5, 6) and (3, 5)

https://dl.doubtnut.com/l/_oaeNZGZaGHqj
https://dl.doubtnut.com/l/_0EB91lRysIc6
https://dl.doubtnut.com/l/_5YLYdkUnQMdb
https://dl.doubtnut.com/l/_RiIitXKN1Onm


92. If  be the coordinates of the three

consecutive vertices of a parallelogram, find the coordinates of the fourth

vertex.

Watch Video Solution

(6, 8), (3, 7) and ( − 2, − 2)

93. Three consecutive vertices of a rhombus are

. Find the fourth vertex

Watch Video Solution

(5, 3), (2, 7) and ( − 2, 4)

94. A quadrilateral has the vertices at the points


 . Show that the mid points of the

sides of this quadrilateral are the
vertices of a parallelogram.

Watch Video Solution

( − 4, 2),  (2, 6),  (8, 5) and (9, − 7)

https://dl.doubtnut.com/l/_MI9XEBwyj8vm
https://dl.doubtnut.com/l/_BblsB3iwksEM
https://dl.doubtnut.com/l/_4eri3NcB3MRq


95. about to only mathematics

Watch Video Solution

96. If P, Q, R divide the sides BC, CA and AB of  in the same ratio,

prove that the centroid of the triangles  coincide.

Watch Video Solution

ΔABC

ABC and PQR

97. Prove that three times the sum of the squares of the sides of a

triangle is equal to four times the sum of the squares of the medians of

the
triangle.

Watch Video Solution

98. If G be the centroid of a triangle ABC, prove that,Â 

AB2+BC2+CA2=3(GA2+GB2+GC2)

https://dl.doubtnut.com/l/_2oHuMTZuuscH
https://dl.doubtnut.com/l/_BbE1d1JmqL5k
https://dl.doubtnut.com/l/_djAbDOR1L0in
https://dl.doubtnut.com/l/_Wvdn5VEHJuNp


Watch Video Solution

99. Prove that the mid-point of the hypotenuse of a right triangle is

equidistant from its vertices.

Watch Video Solution

100. Find the area of the triangle whose vertices are : `(3,-4), (7, 5), (-1, 10)

Watch Video Solution

101. Find the area of the triangle whose vertices are :

Watch Video Solution

(at2
1, 2at1), (at2

2, 2at2), (at2
3, 2at3)

https://dl.doubtnut.com/l/_Wvdn5VEHJuNp
https://dl.doubtnut.com/l/_BVbIvJxcW0lR
https://dl.doubtnut.com/l/_VGGLWVRwzkIF
https://dl.doubtnut.com/l/_6ABblmoWxPRm


102. Find the area of the triangle whose vertices are :

Watch Video Solution

(a cosα, b sinα), (a cos β, b sinβ), (a cos γ, b sinγ)

103. Find the area of the quadrilateral whose vertices are :

Watch Video Solution

(1, 1), (7, − 3), (12, 2) and (7, 21)

104. Find the area of the quadrilateral whose vertices are :

Watch Video Solution

( − 4, 5), (0, 7), (5, − 5) and ( − 4, − 2)

105. Find the area of the pentagon whose vertices are

(4, 3), ( − 5, 6), (0, − 7), (3, − 6), ( − 7, − 2)

https://dl.doubtnut.com/l/_aoUodrDtrWRd
https://dl.doubtnut.com/l/_tPaLPUlxmTGW
https://dl.doubtnut.com/l/_ahHGKX0gKGV3
https://dl.doubtnut.com/l/_DMlxgdkvz4YM


Watch Video Solution

106. Find the area of the hexagon whose vertices taken in order are

 and (0, -4).

Watch Video Solution

(5, 0), (4, 2), (1, 3), ( − 2, 2), ( − 3, − 1)

107. If A, B, C are the points  respectively and D, E, F

are the middle points of BC, CA and AB respectively, prove that Area of

.

Watch Video Solution

( − 1, 5), (3, 1), (5, 7)

ΔABC = 4ΔDEF

108. Three vertices of a triangle are . If D,

E and F are the mid-points of the sides opposite to the vertices A, B and C,

respectively, show that the area of triangle ABC is four times the area of

triangle DEF.

Watch Video Solution

A(1, 2), B( − 3, 6) and C(5, 4)

https://dl.doubtnut.com/l/_DMlxgdkvz4YM
https://dl.doubtnut.com/l/_VqTF3s3Rs0RV
https://dl.doubtnut.com/l/_5r4jcvoPrTDI
https://dl.doubtnut.com/l/_yjn2rV4M9fo9


109. Find the area of a triangle ABC if the coordinates of the middle

points of the sides of the triangle are 

Watch Video Solution

( − 1, − 2), (6, 1) and (3, 5)

110. The vertices of a  are . A straight

line DE divides AB and AC in the ration 1:2 at D and E respectively, prove

that 

Watch Video Solution

ΔABC A(3, 0), B(0, 6) and C(6, 9)

= 9
ΔABC

ΔADE

111. Prove that the area of the triangle whose vertices are


is independent of 

Watch Video Solution

(t, t − 2), (t + 2, t + 2)and(t + 3, t) t.

https://dl.doubtnut.com/l/_yjn2rV4M9fo9
https://dl.doubtnut.com/l/_tkPxGM5Jn7sK
https://dl.doubtnut.com/l/_vflXfSVOJty6
https://dl.doubtnut.com/l/_YtkUI4Ea8cPh


112. If  are the vertices of a triangle of area

6 square units, show that  or .

Watch Video Solution

A(x, y), B(1, 2) and C(2, 1)

x + y = 15 −9

113. Prove that the points 
are collinear.

Watch Video Solution

(a, b + c), (b, c + a)and(c, a + b)

114. If the points 
 and 
 are collinear show that


Watch Video Solution

(x1, y1), (x2, y2), (x3, y3)

+ + = 0
y2 − y3

x2x3

y3 − y1

x3x1

y1 − y2

x1x2

115. Prove that
 the points 
 and 
 are

collinear if 
.

Watch Video Solution

(a,  b),  (a1,  b1) (a − a1,  b − b1)

ab1 = a1b

https://dl.doubtnut.com/l/_j371U4OTTQYS
https://dl.doubtnut.com/l/_IFURaXkVakZH
https://dl.doubtnut.com/l/_5J0gAsIXdofd
https://dl.doubtnut.com/l/_9OfpKJzRBGZ5


116. Three points  are collinear. Prove

that: .

Watch Video Solution

A(x1, y1), B(x2, y2) and C(x, y)

(x − x1)(y2 − y1) = (x2 − x1)(y − y1)

117. Show that the points  are collinear if 

Watch Video Solution

(a, 0), (0, b) and (1, 1)

+ = 1
1

a

1

b

118. Find the values of  if the points  are

collinear.

Watch Video Solution

x (2x, 2x), (3, 2x + 1) and (1, 0)

https://dl.doubtnut.com/l/_9OfpKJzRBGZ5
https://dl.doubtnut.com/l/_01OdLAji7Ygs
https://dl.doubtnut.com/l/_RtZGgTX89Ukr
https://dl.doubtnut.com/l/_IYaG67h8VWbW


119. Show that the straight line joining the points

 divides the line joining the points 

 internally in the ratio .

Watch Video Solution

A(0, − 1) and B(15, 2)

C( − 1, 2) and D(4, − 5) 2: 3

120. Find the area of the triangle whose vertices are

.

Watch Video Solution

(a + 1)(a + 2), (a + 2), (a + 2)(a + 3), (a + 3) and (a + 3)(a + 4), (a +

121. A Point A divides the join of P(-5,1) and Q(3.5) in the ratio . Then

the integral value of K for which the area of . Where B is (1,5) and

C is  is equal to 2 units in magnitude is

Watch Video Solution

k : 1

ΔABC

(7, − 2)

https://dl.doubtnut.com/l/_Q8djJ4CGfpG3
https://dl.doubtnut.com/l/_jXTTTbfJErqY
https://dl.doubtnut.com/l/_un0PZDrVGZgf
https://dl.doubtnut.com/l/_nRmHtRjXaFoB


122. The coordinates of A, B, C, D are

 respectively. If Area of =

1/2`, find x

Watch Video Solution

(6, 3), ( − 3, 5), (4, − 2) and (x, 3x)
ΔDBC

ΔABC

123. If the area of the quadrilateral whose angular points taken in order

are  be zero, show that .

Watch Video Solution

(1, 2), ( − 5, 6), (7, − 4) and (h, − 2) h = 3

124. Find the area of the triangle whose vertices A, B, C are

 respectively and hence find the length of

perpendicular from  to BC.

Watch Video Solution

(3, 4), ( − 4, 3), (8, 6)

A

https://dl.doubtnut.com/l/_nRmHtRjXaFoB
https://dl.doubtnut.com/l/_ZJpGFTQVULWL
https://dl.doubtnut.com/l/_xXYbwZti5TkB


125. The coordinates of the centroid of a triangle and those of two of its

vertices are respectively . Find the area of the

triangle.

Watch Video Solution

( , 2), (2, 3), ( − 1, 2)
2

3

126. The area of a triangle is 3 square units. Two of its vertices are

 and the third vertex of the triangle lies on x-axis. Find

the coordinates of the third vertex .

Watch Video Solution

A(3, 1), B(1, − 3)

C

127. The area of a parallelogram is 12 square units. Two of its vertices are

the points . Find the other two vertices of the

parallelogram, if the point of intersection of diagonals lies on x-axis on its

positive side.

Watch Video Solution

A( − 1, 3) and B( − 2, 4)

https://dl.doubtnut.com/l/_NZMd79aY52r7
https://dl.doubtnut.com/l/_9DpnC6eMXBXW
https://dl.doubtnut.com/l/_IuukDSaTPEWD


128. The area of a triangle is  square units. Two of its vertices are the

points  and , the third vertex of the triangle lies on

the line , then third vertex C is

Watch Video Solution

3

2

A(2, − 3) B(3, − 2)

3x − y − 2 = 0

129. Prove that the quadrilateral whose vertices are

 is a parallelogram and find

its area. If E divides AC in the ration , prove that D, E and the middle

point F of BC are collinear.

Watch Video Solution

A( − 2, 5), B(4, − 1), C(9, 1) and D(3, 7)

2: 1

130. Prove that points  taken

in order are the vertices of a trapezium.

Watch Video Solution

( − 3, − 1), (2, − 1), (1, 1) and ( − 2, 1)

https://dl.doubtnut.com/l/_sB6gMkPZLw1G
https://dl.doubtnut.com/l/_cQJBNROfqFom
https://dl.doubtnut.com/l/_2rGLW6TiSdWT
https://dl.doubtnut.com/l/_xBMCzwBgmItL


131. Show that the line joining the centroid of a triangle to its vertices

divide it into three triangles of equal area.

Watch Video Solution

132. Find the equation of the set of all points  such that the line 

 is coincident with the line joining  and the point 

Watch Video Solution

P (x, y)

OP P (3, 2).

133. The equation of the locus of points equidistant from (-1, -1) and (4, 2)

is

Watch Video Solution

134. Find the equation of the locus of a point P if the sum of squares of

distances of the point P from the axes is .p2

https://dl.doubtnut.com/l/_xBMCzwBgmItL
https://dl.doubtnut.com/l/_yoBPpGTHh3Uz
https://dl.doubtnut.com/l/_Flx1vXkncJnn
https://dl.doubtnut.com/l/_AVbx9vI90n3F


Watch Video Solution

135. Find the equation of the set of all points which are equidistant from

the points 

Watch Video Solution

(a2 + b2, a2 − b2) and (a2 − b2, a2 + b2)

136. Square of the distance of the point from x-axis is double of its

distance from the origin.

Watch Video Solution

137. Write the equation of locus of a point whose distance from y-axis is

always equal to the double of its distance from x-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_AVbx9vI90n3F
https://dl.doubtnut.com/l/_UjbgtWChXiuQ
https://dl.doubtnut.com/l/_wDlj7n6pwVGV
https://dl.doubtnut.com/l/_Kq34PAtjs8Vi


138. Find the equation of the set of points for which every ordinate is

greater than the corresponding abscissa by a given distance .

Watch Video Solution

d

139. If a point  moves such that its distance from  is always equal

to -coordinate of , show that the locus of  is .

Watch Video Solution

P (a, 0)

a + x P P y2 = 4ax

140. Show that the equation of the locus of a point which moves so that

the sum of its distance from two given points  is

equal to  is : 

Watch Video Solution

(k, 0) and ( − k, 0)

2a + = 1
x2

a2

y2

a2 − k2

https://dl.doubtnut.com/l/_59VEF9MKQfVR
https://dl.doubtnut.com/l/_vhwCNB3aLDEo
https://dl.doubtnut.com/l/_EoQ0DIphqt6x


141. If the sum of the distances of a moving point from two fixed points

 be , prove that the locus of the point is: 

 =1

Watch Video Solution

(ae, 0) and ( − ae, 0) 2a

+
x2

a2

y2

a2(1 − e2)

142. Find the locus of a variable point  where  is the parameter.

Watch Video Solution

(at2, 2at) t

143. If the coordinates of a vartiable point P be , where t

is the variable quantity, then the locus of P is

Watch Video Solution

(t + , t − )
1

t

1

t

144. If the coordinates of a variable point be ,

where  is the parameter, then the locus of P is

(cos θ + sin θ, sin θ − cos θ)

θ

https://dl.doubtnut.com/l/_du4DTYVHueh8
https://dl.doubtnut.com/l/_B4T0p8nsvM6G
https://dl.doubtnut.com/l/_RtOinc8q1nqW
https://dl.doubtnut.com/l/_hEeLpLSfLRQ2


Watch Video Solution

145. If  are the vertices of .

Find the locus of its centroid if  varies.

Watch Video Solution

A(cos θ, sin θ), B(sin θ, cos θ), C(1, 2) ΔABC

θ

146. A point moves so that its distance from the point  is always

three times its distance from the point . Find the equation to its

locus.

Watch Video Solution

( − 2, 3)

(0, 3)

147. A and B are two given points whose coordinates are

 respectively. A point P moves in such a manner that 

. Find the equation to the locus traced out by .

Watch Video Solution

( − 5, 3) and (2, 4)

PA :PB = 3: 2 P

https://dl.doubtnut.com/l/_hEeLpLSfLRQ2
https://dl.doubtnut.com/l/_C5lu9J7r4Ia2
https://dl.doubtnut.com/l/_Mzg4ufGM534V
https://dl.doubtnut.com/l/_2BtGX7Awg4kI


148. find the equation of the locus of a points such that sum of its

distance from (0,3) and (0,-3) is 8.

Watch Video Solution

149.  is the point  and  is the foot of the perpendicular drawn

from a point  to the -axis. If  moves such that the distance  and 

 remain equal find the locus of .

Watch Video Solution

S (0, 4) M

P y P PS

PM P

150. If  are two fixed points, find the locus of a

point P so that area of  is 9 units.

Watch Video Solution

A(1, 1) and B( − 2, 3)

ΔPAB

https://dl.doubtnut.com/l/_R5eBL9BeWIbd
https://dl.doubtnut.com/l/_kC51ozPH5yjh
https://dl.doubtnut.com/l/_Vg3jzsuXICry


151. Find the locus of a point such that the line
 segments having end

points (2,0) and (-2,0) subtend a right angle at that
point.

Watch Video Solution

152. If P is the middle point of the straight line joining a given point

, where Q is a variable point on the curve 

. Find the locus of .

Watch Video Solution

A(1, 2) and Q

x2 + y2 + x + y = 0 P

153.  is a fixed point and  a variable point. If 

divides  internally in the ratio 3:1, find the locus of P.

Watch Video Solution

A(2, 3) Q(3 cos θ, 2 sin θ) P

AQ

https://dl.doubtnut.com/l/_PpEQy0WkQvFJ
https://dl.doubtnut.com/l/_Qi1dSAVVvYRt
https://dl.doubtnut.com/l/_lk0v8Rco6Uj6


154. From the point , all possible lines are drawn to cut the x-

axis. Find the locus of their middle points.

Watch Video Solution

A(6, − 8)

155. A stick of length  slides with its ends on two mutually perpendicular

lines. Find the locus of the middle point of the stick.

Watch Video Solution

l

156. Prove that the locus of a point equidistant from the extermities of a

line segment is the perpendicular bisector if it.

Watch Video Solution

157. Describe the locus of the point  satisfying the condition 

.

(x, y)

x2 + y2 = a2

https://dl.doubtnut.com/l/_gDeTK6LGD3Oe
https://dl.doubtnut.com/l/_0YyQf33kF10Z
https://dl.doubtnut.com/l/_8yqsr3336egN
https://dl.doubtnut.com/l/_pvwzpbC3AjQV


Watch Video Solution

158. Describe the locus of the point  satisfying 

.

Watch Video Solution

(x, y)

(x − 1)2 + (y − 1)2 = 22

159. Examine whether point (1, 2) lies on the curve .

Watch Video Solution

4x2 − y2 = 0

160. Examing whether point  lies on the curve 

.

Watch Video Solution

(2, − 3)

x2 − 2y2 + 6xy + 8 = 0

https://dl.doubtnut.com/l/_pvwzpbC3AjQV
https://dl.doubtnut.com/l/_0elwiLgDIxhP
https://dl.doubtnut.com/l/_iA6VdA5n1jCj
https://dl.doubtnut.com/l/_WBFmYhsysgfu


161. If the equation 

represent the same curve, then show that .

Watch Video Solution

ax2 + 2hxy + by2 = 0 and bx2 − 2hxy + ay2 = 0

a + b = 0

162. Find the value of  if the point (1, 2) lies on the curve

Watch Video Solution

k

(k − 10)x2 + y2 − (k − 7)x − (3k − 27)y + 11 = 0

https://dl.doubtnut.com/l/_ck7lSNLegcqY
https://dl.doubtnut.com/l/_EG7ICnSUnDRk

